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Before attempting the question paper, kindly check your Question Booklet{QB) and O.M.R. Answer Sheet and ensure that:
- Serial number of Question Bookle(QB) and OMR Answer Sheet is same.
- All pages and all questions are properly printed R
In case of any discrepancy/defect, the candidate should immediately report the matter to the Invigilator for . .8
replacement of Question Booklet{(QB) and OMR Answer Sheet. No claim/objection in this regard will be
entertained after five minutes of start of examination, candidate will be liable for the same.

2. TEETT SUT-TE & 9 Ry e ad Pea W)

Read ail instructions on the reverse of OMR Answer Sheet. .
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ST e & § Wi
On OMR Answer Sheet, use blue ball point pen only. Please, fill your Roll No. and other information
correctly in OMR Answer Sheet.

4. TU ue % T ot 1k Rl ve 3 B we ¥ ot e siftea R o ¥ o o e sw w16
All questions carry equal marks. If more than one response is marked for a question, it would be treated as o i ¥
WIONg answer. . Numt
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Each question has five options/circles. First four options/circles A, 8, € and D are related to appropriate
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CE Y arks

1/4 part of the mark(s) of each question will be deducted for each wrong answer. (A wrong answer means an - e
incorrect answer or more than one answers for any question).
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If a candidate leaves more than 10 percent questions or does not darken any of the five options, he/she will be disqualified for
the exam.
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Candidate will be given 10 minutes extra to make sure, if he/she has filled up any one option/circle for each questions.
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If there is any sort of ambiguity / mistake either of printing or factual in nature in Hindi or English version of questions, then the
English Version will be treated as final, ,
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Use of Mobile Phone / Bluetooth Device or any other electronic gadget in the examination hall is strictly prohibited. If any such
prohibited material is found with any candidate, strict action will be taken against him/her as per rules.
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Warning : If a candidate is found copying or using unfair means or if any unauthorized material is found in his/her possession,

F.LR will be lodged against him/her in the Police Station and he/she would be liable to be prosecuted under State Public Examination

{Measures for Preventions of Unfair Means in Recruitment) Act. 2022 and Amendment Act 2023. The act has provisions of

imprisonment of 10 years to life and fine up to Z 10 crore. Board may also debar him/her permanently from all future examinations

conducted by the Board. .
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The battle fought between Babur and

Mahmud Lodi in 1529 is known as:
(A) Battle of Tarain

(B) Battle of Ghaghra

(C) Battle of H dighati

o o

(E)

o v gé
B) =T w TE_

In phenylketonuria, according to the
epidemiological wheel theory the major role
is played by:

(&) Emfimﬁme;
(B) Dietary fa
(C)  Genetic
(D) Genetic a
(E) Question nstattempted

uiiE Prataifrew @ fasia & smar,
Rrmswasrarrien ¥ Prefufes & 9 @M s

(D) el ot s
(E) owafa ws

/\ 8TNANM-1

AYUSH stands for -

{A) Ayurvedic, Yoga, Unani, Siddha and
Homecare-based system of medicine

(B) Allopathic, Yoga, Unani, Siddha and
Homecare-based system of medicine

(C) Allopathic, Yoga, Unani, Siddha and
Homeopathic system of medicine

(D) Ayurvedic, Yoga, Unani, Siddha and
Homeopathic system of medicine

What is health assessment?
(A) P}annma care and treatment for the

(B) tion of health status by
ing physical examination after
ing a health history.
) fying and evaluating the special
D)

‘health history of a person.
(E) Question not attempted

A phase between the state of perfect health
and the point where actual pathological
processes of the disease starts is called the
phase of:

(A) Pathogenesis

(B) Post pathogenesis
(C) Primordial preve
(D) Pre-pathogenesis

(E) Question not atte

o e @ Rafy o W Rig el AR
T ulear oW TN ¥, ¥ S @ oEw
HEAT T :

(A) e (Pathogenesis)

(B) uyg Tes (Post pathogenesis)

(D) w& e (Pre-pathogenesis)
() oaf@ ust

captures videos. ﬁ"im can be transferred
via the internet in real

(A) Headset

(B) Web camera
(C) Sound card
(D) OMR

(E) Question not attempted

B0 SIS 99T W W v 1 gear B

(A) ¥F=sEe
(B) dEFwq
(C) urss =i
(D) o T &
(E) emmi@ 9

/\ 8TNANM-1

Who wrote “Pabu Prakash™ Maha Kavya?

(A) Balinathji
(B) - Suryamal Mishra

(C) Vitthat L

(D) Modji Aas%ﬁya Krit

(E) Quesﬁeﬁﬁot attempted

‘T T HETHTH % WEE B © 7
© P

(D) s @?ﬁéfm gl

(B) g g

When was Ralgga{éthaﬂ Seva Sangh founded?

(A) 1925
(B) 1915
(C) 1920
(D) 1919

(E) Question not attempted / STRITE W

PT.0.



Select the correct statements about NTEP
1. NTEP aims to end TB by 2025.

2. NTEP stands for National Tuberculosis
Eradication Programme.

NEP (2017-2025) expects 80%
reduction in B incidents.

Lad

4. NTEP objeets for private sector
engagemeni,.

5. NTEP expes ﬂ 90% reduction in TB
mortality by 2025.

W ATA ¥ deiftrg T wERl H gAEE B

b2

Cad

= e O (28%%2025} S ¥ oo §
80% =y @) dNTEET ST g

4, AT @ Sy el & F g o

5. WAIE 2025 7% A F @ gg
¥ 90% wE & gurEEl sl 5l

Choose the mo &ppropna‘te answer ﬁ'om
the option given below:

%%QW%W%%WWWW

(E) Question not attempted / SFRING 95T
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Identify the hormone which is NOT secreted
by placenta:

(A) hCG
(B) hPL
(C) Progestogens

EEE)

Integrated management of neonatal and
childhood illness

4. Prevention of infection

(B) 3and 4
Dy 2,3and 4

éﬁ Y HEita ReT o €7
L Slsfimfﬁm (Fr= Tmoem) &1 s
2. T 1y @1 A greseied

(B) 3alx4
3T 4

Ay 1,
©) 1at 2 D 2.3

() orgafta wew

iz

i3

Match List I with List II:
List I (Bones) List I (Body part)

a. Humerus 1. Thorax
b. Femur II. Hand
¢. Parietal bone IH. Leg
d. Sternum Head
@ [ % @ gar 1 & IR
(e

a. EE

b. wEY .

c. e I 1, e

d. = Iv. R

Choose the correct answer from the options

given below:

A Ry o el ¥ @
(Ay a-l, b-IiL, eIl
(B) a-1V, b-IL, ¢-III, :d—i
(C) a-lI, b1, c-1V, ﬁ»—i
Dy eI, b1, c-1V, @
(E) Question not attempted / ST U

TEC BT TIF BT

Microcellular rubber footwear is provided
for protection of i insen: ive feet as one of
the major initiatives which disease?

{A) Polio
(B) Accident victim
(C) Leprosy
(D) Epilepsy
Question not attempted

/\ 8TNANM-1
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i5

g

Given below are some nutritional programs
of India — Arrange them in chronological
order:

1. Weekly Iron Supplementation

Mational Nutrition Mission

2
3
4
5. Amapuma Scheme

A %Q T IS % DO BRI BT BT

BRIEK] "rgéjm fym
fre-3 r%a A

hoose the correct answer from the options
given below: .

o Rw mu Y ¥ wE IEX @ 99d
BINTT:
(A)Y 4,3,5,
By 1,2,5,
C) 5,4,1,
2,1,4,5

dietary ﬁbre”

(A) Muscle ﬁb{e
(B) Vegetable fibre
(C) DBran
(D) Fruits

() orgai@ us




16  Which of the following are vector borne

17

diseases?

(&) Dengue and Typhoid

(B) Chikungunya and AIDS
©

Which of the following is NOT a function
of the Barcode Reader?

(A) to capture information

(B) to read information

(C) to translat
alphabets

barcode into numerals/

(D)  to print :
(E) Question not attempted
Frafafeg ¥ @ = aeE et & @ Wl ¥ 7

/\ BTNANM-1

18 The global prevalence of tuberculosis

infection is around % and prevalence

of TB infection in India is %.

Ul T & weAT @ Afvae T wue

SHIEET B SUGrT S ARl @ % TSI B

26  Match List I with List IL:

List T (Medical List II (Type of

Ambulance)

eguipment in ERS)
a. Fetal Doppler
b. Canvas streicher

folding

c. Suction pump

{foot operated)

d. Laryngoscope D
el 19w gl I ot e
T (o A wh I (oo
e ghraie) T
a. WEW SaeR . ABCD

c. T 9 (G

d. ®fTm

Choose the correct answer from the options

given below:

A g T ferhedl & ¥ W T B T DI

(A) a-IV, beIl, oI, ‘ds

(B) a-Il, b-1, c-IV, d:ill

(©) a1V, b-IIL, o,

(D) al, b-IV, c-11L, d-f

(E) Question not attempted / FFANGE T97

/\ 8TNANM-1
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Match List T with List II:

List 1 List ﬁ

a. Diagnosis 1. Science of the cause
of disease

b. Etiology Chance of recovery

from disease

. Determination of the

nature and extent of
digease

d. Prognosis # IV. Subjective evidence

o of disease
o 1% @ 11 w1 R @i
o 1 = 1
b, frememer L U ¥ @Y B W @l
c. g T ey et wgfer &I afemrer

d gaigE IV, O @ et g
Choose the ce?féct answer from the options
given below:

TR R g Rt F @ o wO &1 T B
(A)
B)
(Cy &l b

a1V, b-1IL c-IL, d-I

(D) eI, bV, ¢, d-TII
(E) Question not attempted / AN 959




22 Which of the following is NOT a component
of Global Hunger Index?
(A) Percentage of children who die before
the age of 5 years.
(B) Percentage of children under 5 years,
who are underweight.
(C) Percentage . " children under 5 years,
who suffer from stunting.
(D} Percentage of children under 5 vears,
who suffer from wasting.
(B) Question ﬁj attempted
Preafirfen & ¥ dmar e B wew (Rise
TG HIGEUE) H HH TE 57
(A) === &1 s ey S o 9 wel g A
I B
(B) 5 a7 & goAl AR S =TT
(underweight]. ¥
© %aﬁ%w%mﬁwﬁmﬁmﬁ%
{stunting) ’%
o) Saﬁ%%“r{%aﬁﬁcmw%mﬁ&%w
(wasting) ¥ 9w T
(E) ﬁﬁﬁ%ﬂ RS
23  The term “hidéei\ wnger” is used to refer
to defigiency.
(A) Calcium
(B) Micronutr
(C) Iron o
(D) Macronutrient
(E) Question
®) gewie
(©) @ (smmE
(D) Feq T
() oraia us
/\ 8TNANM-1
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25

Which of the following is NOT necessary
for achieving good health?

(A) Vaccination

(B) Eating diet rich in only fats and

©

Which of the following programmes includes
counselling for sexual and reproductive
health? =

(A} Nat

Fovert

Mental Health Programme

(B)

©

D) ish

(E) Qaésfion not attempted

Rreefge 3 & S e 3 et A ofc

(A) Trﬁ‘% uERIe @R HRimT
® o
©
D)

&)

26

27

Which of the following is NOT a part of the
Government’s Initiative to reduce Low Birth
Weight (LBW)?

(&) Counselling on nutrition, family
planning and prevention of diseases

(B) Universal screegiing of pregnant

women for anae

(C) Weight gain monitoring in pregnancy

during ANC visit

(D) Immunization and providing vitamin A
supplementation upto the age of 5 yrs

(E) Question not attempted

(B) @fﬁm%%@ﬁa@m&aﬁrwﬁm
"\Eﬂﬂ

© Q@Eﬁéﬁ%%ﬁmﬂ%ﬁﬁ?ﬁﬁ%ﬁeﬁ%

[ @ ST ol

e

D) 5o 7@ B oy
feifte © 9 T

(B) oraRa we

Every 100 ml of deoxygenated blood delivers
approximately _ ml of CO, to the alveoli.

yE 100 ml - aﬂaﬁ%ﬁ@?ﬁ“m Fitemiall @I,
T :

A 1
® 2
© 3
D) 4

(E) Question not attempted / FFAT U

/\ 8TNANM-1
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29

Who is the First Deputy Managing Director
of International Monetary Fund (IMF)?

(A) Kenji Okamura
B Nirmalaﬂgeetha Raman

(C) Cristalina Georgiva

(D) Gita Gopinath

(B Questioﬁi"““ct attempted

m@*& el m@m; & uge 9y wdy PRy
(A) &0 aeBEy

(B) Toddam
(C) P@m‘ﬁﬁm
©) e vﬁtﬁw

(E) aﬁﬁ&'ﬁ f;w

Deficiency of which mineral cause impaired

immune ﬁznst‘m and Keshan disease?
A Seienimﬁ};}

(B) Chmmaum

(C) Fluoride -
(D) Zine

(E) Ques‘iieﬁ:"‘/get attempted
Frer § Q4 Rew @b B el § ety uRreedy wrd




30 What are the manifestations of Iron | 31 Identify the assured services which should 32  Identify the acts and rules that govern the | 33  The National Strategic Plan for HIV/AIDS

Deficiency Anaemia (IDA)? be provided by a subcenter: , ; ‘4 wastes | :
disposal of solid wastes in India. and STI is developed for the year:
1. Gegersl Pallor 1. Control of locally endemic diseases 1. Montreal Protocol
. : . o T o A [ TEE oI T o & fog Ui
2. Red discoloration of conjuctiva 2. Hygiene and sanitation 2. Environment (Protection) Act, 1986 =
3. Paleness of éﬁ beds and soft palate 3. e training to the staff of 3. Air (Prevention and Control of

(A

anagement and (B) 20;7_2%%}
; 2-20

nity health center Pollution) Act, 198

4. Bio-medical Wast
Handling) Rules,

4.

Choose the most appropriate answer from (C) 2016-2 :
the options given below: .

(D) 2017-2024

B) . (B) 2and 3 (E) Question-not atiempted / AT 99
© © (©) 1.2 and 4 y
) (D) (D) 2,3 and 4 34  According to ﬁ*m 2011 census, which is the
(E) ®) Qu ésﬁen not attempted (E) Question not at %mpted most p(}pu}ate%disﬁ'ici of India?

G o e e ¥ 3 it (So;iéd@{wastes disposal) & A Luck
AT B FH F Y TANHAT DB B rell w9 U 0 W % v Fiew Yl w1 freamer % fw R o el ok Rt @ (A) Lucknow:

L5 | .
ifrenferrat ¥ 7 RESHERE =g w1 (B) Jaisalmer
1. umM t’ﬁ‘@m : 1. wieTE Wi (9] Kachchhi
2. el @ e 2. wafeter (gRan) subEe, 1986
(D) Thane
3 3. gt (BEew s R % IRsT) T,
1981 (E) Question niot attempted
4. , , .
o 4. ?; ?i? I (AR T i) 2011 %Y SV SR A @ G S
Wﬁ@ﬁ%ﬁ%%@’éwmw R e T R | dew @ 7
T Hif 49 Ry Rew ¥ 9 we9 IugE SO &1
(A) 24k 4 T T (A) wETw
®) 3R 4 (A) 12 (B) ST
(B) 283
© 13 } ’ ©
: © 1,234

D) 1,2 &R
®) (D) ;;: D) 2.3 a4 @)
(E) oraia ugd (B) oraia as }; () emeia ue (B) om@n@ us

/\ 8TNANM-1 10 /\ 8TNANM-1 11




35 Select the criteria for a good disinfectant
from the following:
1. It can be toxic to domestic animals.
2. It must destroy the pathogens.
3. It must not be toxic to humans.
4 It should be costly.
Choose the most.appropriate answer from
the options given Below:
(A) 2and3
(B) land4
(C) 2and 4
(Dy land3
(E) Question not attempted
W%%@@‘;;mm%%%w@w
T B
1. =% g ugelt & fre faden € gean ¥
2. =E T AT T B
3, Fore ot 81 e e
4. E wEmW éﬁaaf%qz
T BT
{A} 2 & 3
B) 14
(C) 2974
(D) 13
(E) crgar@ us

/\ 8TNANM-1
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36  First Chairman of Rajasthan State Finance
Commission was :

(A) Shri Hiralal Devpura

(B) Shri K. K. Goel

(C) Shri B. D. Kalla

L. Ea; 2 fast foods frequently

2. Buying processed foods

3. Taking whole grains, pulses and fruits
4. H&wmg chocolates and cakes in dessert
Choose the most appropriate answer from
the options given below:

(A) 3and 4

38

39

Which among the following is NOT a
monitor?

(A) LCD
(B) Projector

{C) Plasma

(D) CRT
(E) Question not atte iféec‘i
(A) TadE.

(B) ey

(C) wwE

D) R
(B) e wem

Which of the feiiswiﬁ;g" drug kits is NOT
available at subcenter?

(A) Kit (A)

(B) Kit of contrace z%s;
©
(D)

(E) Question not aﬁé&pted

ey & § o g e g oy ut Suwey wid
TR E?

(&) foe (A)
(B)y et @i
© WX
(D) ’éﬁ&%ms IEG
(B) oFaia 9w

/\ 8TNANM-1
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41

i3

On 24t September, 2015, Government of
India notified that the rules on ‘tobacco pack
pictorial warnings’ would come into effect
from:

(A) 1%t January, 2016
(B) 318t March, 2016
© \
(D)
(B) Question ot attempted

24 fqawiT, 2015@%@'{6@‘{@ TG &
ey ux Ry AaTe @ STEE B9 A
(&) 1 wEad, 2016

(B) 31 \m, 2016

(C) 1 o, ,f.%%

D) 1 fémr 9015

(B) orgafa me

Which of the following are non-infectious
diseases?

Diabetes

AIDS

Cancer

Lommen«l‘éaid

COVID

%Wilﬁga F m T STEiHRT § 7

ERiER]

Choose the mest appropriate answer from

I

I

(E) Question not attempted / STRNG ¥¢7




42

Identify the re-emerging infectious diseases
from the following:

1. Tuberculosis
2. Japanese encephalitis

Malaria

[

: Acute Respiratory
Syndrome),

5. Dengue

Choose the most dppropriate answer from
the options given below:

(Ay 2,4and 5
®) 1,2, 3 and:
(© 1,3and5.

(w2

(D 1,3and 4
(E) Question notattempted

et & gﬁﬁ%ﬁﬁ (re-emerging) W™
e U B e

1.

/\ 8TNANM-1 14
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Identify the statement which is true for HIV

{ransmission

(A) HIV infected women can transmit HIV
to }'m foetus or infant before, during
or aﬁer birth.

(B) HI

les

prevalence in pregnant women is

1 1% in many districts of India.

(€ 905

in utero or during birth process.

HIV perinatal infections occur

o A pregnant HIV infected woman has
approximately 90% chance of passing

the us to her foetus or newborn

E) Qum&om not attempted

HWW%%W%%W%@E&%%E&
e B

(A) HIV-gwfm afe e o a1 fry =
T Y qE, N S0 G99 A1 9 9 %

®)

©

(D)

(E)

44 Match List I with List II:
List I List 11
a. Amoebic 1. Haemophilus
dysentery %f?jlz.ienzag
b. Elephantiasis IL
c. Ring worms  [IL ié?l‘amaeba
iif?iisf@lyﬁca
d. Pneumonia IV, Wuchereria
ancrofii
e 1% wre gEr 11 as‘f%maf it
w1 ;33?;31
o onfifes RAD L éfe ST
b. TERBrEHRTY
c. far=w
d. =g
Choose the correct &
given below:
e e 7w Ryeseat # @ FE T BT BIRIC:
(A a-ll, b-1V, c-1I,
(B) &l b1V, c-ll, d-
(Cy  alV, b1, e,
Dy &, b-IIL, e-IV, ¢
(E) Question not attempted / NG U7

/\ 8TNANM-1
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46

th

The target age for complementary feeding

under Infant and Young Child Feeding
(IYCF) is:

(A 6-
B) - 12 m@ﬁths
(C) 6-24 m@nths
(D) 3-24 memhs

12 months

(E) Questioﬁfﬁot attermpted

yﬁi@@mwﬁﬁn (ot a1 us.) %

% Prerifa ey ¥
(B) 3-12wEd
© 624 %
(D) 3—24‘%’@%%

Which of the f{")ﬁc}wing is NOT a risk factor
associated with drowning?

(A) Alcohol use, near or in the water
(B) Medical conditions such as epilepsy

(C) Safe 'irgé'SpGrtaiieﬁ vessels with
floating devices

(D) ’f@urisﬁsfﬁéﬁf&miliar with local water
risks and features

E) Ques{ioﬁwﬁot attempted

%ﬁf&aﬁﬁﬁamm%mwﬁ%wm
EE :

(A) m%%q;ammv%ﬁ I T T
(B) ‘
(©) e woE % wy guea ST

(D) e e ¥ i et of el &

(E) oTaiE ue




47

Match List I with List 11;

List I List 11
a. Modified secretory 1. Mammary
structures involved glands

in lactation
b. Produces II. Endometrium

progesterone,

estrogens, rel:
and inhibin

¢. Inner glandul: L Isthmus
layer of uterus
d. Last part of the IV. Corpus luteum

oviduct

wh 1T
L 30 wis

&.

b, USRI, I w=riiday
GICSRE T
& T

c. THiT @ . s

Tty T
4 Reaaid @ ot
feemm

Choose the correct answer from the options
given below:

e g T Tyl B8 @8 SO @1 g ST

IV. ww e

(A) eIl boIIL
(B) al bl ¢

(C) aI, b-IIL,

(D) a-, b1V, ¢-lI, d-I11

(E)  Question not attempted / SFaRE w3

/\ 8TNANM-1
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49

Which of these is NOT an important 50

function of proteins in the body?

(A) Repair, growth and maintenance of

body tissue

®)

Synthesis of actin, myosin, collagen

©
)

)

Severe undernutrition due to deficiency of
food and energy is termed as and
that caused by protein deficiency is termed
as

(A)
(B)
©
)

MArasmus, kwaskmrkor

marasmus, anaemz L -
kwashiorkor, marasmus
apaemia marasmu

SN U

Identify the csnsmuems @f metalloenzymes:

51
% ﬁTK S — 1. Copper
2. Nickel
®) o s 3. Zine
- 4.  Iron
Which o Choose the most app;i‘é@ria@e answer from
milk bora the options given belg
(A) (A) 1 and3 2,3 and 4
{C) 2and 4 I,3and 4
B) .
o Didlheri (E) Question not attem pted
(C)  Diphtheria oA & UeH TEEIMY
(D) 1. wh
(E) t 2. frw
) .

Pt e T grE- ¥ 7 3. Riw
A) 4. e
®) T Ru 7o e &

' T BT
© (A 1a 3
) (C) 284
(£) (B) orar 9

/\ 8TNANM-1
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53

Which of the following is a genetic disorder
in humans?

(A) Thalassemia
(B) Cancer

©

)

)

Which of the following is/are NOT a part
of socio demographic determinants for infant
mortality?

. Age of ‘{hﬁ mother

2. Family size

3. Multiple births

4. Sex of the child

Choose the most appropriate answer from
the options given below:

(Ay 3only ..

(B) 1and 3@%}1}

(C) 2 and 4 only

(D) lonly

() Qa@sﬁm} not attempted

1y et & R B A B wEle

Wﬁmﬁf&ﬁfﬁ@/%?@r/%@ﬁ@s?

4 fé‘fggmé%m
W g Ty foe
AT DI

(A) waw 3

(B) W 18X
(C) w2 i 4
(D) Faw |

(B) orRia us
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Which of the following carry oxygenated
blood?

1.  Pulmonary artery
2. Pulmonary vein

3.  Systemic

4, Systemic v

Choose the mo
the options giv

ppropriate answer from

(A) 1 and 2 only

(E) Question nét.attempted
Prer ¥ ¥ B TSR T BT TE FT E 7

1.

(]

%mmﬁwﬂémmwm
Tqgq BT

(© w18

(B) sraia a9

/\ 8TNANM-1
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i8

Which of the following statements are true

for biomedical waste?

1. Red coloured non-chlorinated plastic
bags are used for disposable items like
catheters, gloves elc. ’

2.  Blue puncture proof containers are

or disposal of syringes with fixed

needles.
3 Yellow coloured non-chlorinated
plastic bags are used for human

disposal of medicine vials.
Choose the most appropriate answer from
iong-given below:

(A) 1, 3.only

(E) Question not attempted
Frer & @ WIR BU IERRSEE e
(biomedical waste) % fog @&l 87

o

AT W CT & ARG @RS

2. g o 5 g S wel @
et e g G o fmar s
3. wE gl el & Frame fg O

aﬁﬁ%&gwﬁw S &7 ST

fopan wmar ¥

4. ©HT T F T @ Swmm gaEd @l
Nt ¥ Prara & R fean s ®)

56  Who was crowned “Miss International India

57

58

/\ 8TNANM-1

202377

(A) Sunita Punia
(B) Harnaaz Sandhu

(C) Praveena Anjana

(D) Megha Rajagopalan
(E) Question not aﬁeﬁﬁ;&%@d

fre “Pra gexdvme 3R 20237 & Reaw
Strem ?

(A) g g

(B) = €Y
(C) vwdlwr efwrn
(D) o e
(E) o g5

What is the critical
intervention in child
(A) First 325 days
(B) First 100 days
(C) First 1000 days
(D) First 270 days

(E) Question not attempted

it & e afafifRe 3 R e ot wE ?
(A) T 325Rw

10d for nutritional

(B) wsw 100 Rw
(C) w1000 =
(D) wew 270 &=

(E) orata@ usd

Who was the First Chief Justice of the
Rajasthan High Court?

(A) Kailash Nath Wanchoo

(B) S. K. Mittal
(C)  Arun Kumar M
(D) Kamal Kant Versi
(E) Question not att:
T S5 ST 6 ¥
(A) T g arg
(B) uwy & Prw
(C) oreer gk s
(D) wmw wia 9=

(E) orata a7
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59  Match List I with List 1L

List I List 11

a. Primary Health 1. Most peripheral
Center contact point

between primary

health care and

community.
1. Urban Areas
¢. District and~  TIL A 30 bedded

Municipal

b. Subcenter

hospital with
Hospitals specialized services

IV. A referral unit for

d. Community =
Health Ceﬁz it 6 subcenters

T 1 e e 1w e B

o 8
& €9 % sty
o fig

0 swd &

I fygre Semelf e

i 30 ¥ @ SRga

d. wfE Fa IV, 6 W ¥ %
S Riffe T

Choose the correct answer from the options

given below: =

(A) al, b
(B) alV, b
(C) al, b-
(D) &I, b-1I, ¢ IV, d-1

(E) Question not attempted / SFRING Y9
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61

Choose the true statement about Urban
Health Care facilities:

(A) 1 Urban PHC for 1,00,000 population.
(B) U-PHCs have no OPD services.

(C) 1 ANM for every 10,000 population.
(D) U-PHC includes In-patient care.

(E) Question no attempted

JmEL A
®) g-heed ¥ ad o &< fan 7 G
(C) wRr 10,000 o e & fog 1 ¢ T T

(Urban) @

List I List I
a. Tocopherol = I  Vitamin K,
b. phylloguinine I Vitamin By,
¢. Retinol ; . Vitamin E
d Vitamin A

given below:

9 frg Ty Rl § 4 T SO BT B
(A) a-lll, bIL, eIV, d-1

(B) a-IL b, ¢
©) aIV, bl, oI, d-TI

(D) ail, b, IV, d-11

(E) Question not attempted / CERIEGIR R

/\ 8TNANM-1

62 Which among the following is NOT a
pointing device?

(A) Trackball

B
(C) Touchscreen
(D) Touchpad

(E) Question not attempted

63 The two gonadotropins secreted in human
females are:

LH 4nd Progesterone
(D) Es‘cggéen and Progesterone

(E) Question not attempted

20

o 1 & g gEr I

64  Match List T with List I

List I List II
a. Regular surveillance 1. HIV
b. Sentinel surveillance I
c. Regular periodic . Polio

SUrveys

d. Regular surveillance . IV. Tuberculosis
of disease under

eradication

w1

Choose the correct an
given below:

A g g fermeal ¥ 9 wd 9O a1 wEw At

(A) ol b-l, ¢, d
(B) a-lV, b-li, ¢-1, d-1H
(G alV, b, ¢-II1,
(D) a1V, b-l, ¢, d

(E)  Question not attempted / aia ugw

/\ 8TNANM-1

. Hypertension

ver from the options

21

6%  Match List [ with List I:

66

List I List {1

a. Uremia 1. Insoluble mass of
crystalized salts
Biliverdin, vitamins
and drugs

1iI. Hemodialysis

b. Renal Calculi 1L

c. Sebaceous
Glands

d. Liver . Sterols,

hydrocarbons and

Waxes

g

I frefa s &
FrgFALE vared

1. fefwatés, foefs
qon afitat

11 Eaerdes

IV, B, gEgiess
qqT qH

Choose the correct answer from the options
given below: ..

A few g et ¥ § w8 S @1 ge St
(A) a-l, b-Ill, ¢-1V, d-II

(B) a-ll, b-L -1V, d-II

) all, b-lll e, d-1V

(D) alV, b-H, ¢, d-I

(E) Question not attempted / sgafa usv

ion an indicator of normal
reproductive phase, extends between:

(A) Menstruation and Fertilization

(B) Ovulation and Menstruation

(C) Menopause and Menarche

Menarche and Menopause
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Identify the objectives of the School Health
Services from the following:

1.  Ensuring education of handicapped
children at home.

2. Improving the general nutrition of the

child.

3. Preventing “diseases, especially

infections.

4.  Early diagnosis and treatment of
various comgitions.

Choose the most appropriate answer from
the options given below:

(A

(B) 2,3 and
(C) land?2
(D) 3and 4

(B) Question not attempted

%WW%W%%WGWWW
T BN

(A) 1,283
(B) 2,384
© 12
(D) 334
(B) orERa 9¢

/\ 8TNANM-1
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68

69

768

The “Plus” within RMNCH+A strategy

focusses on:
(A) Delinking home and community based

services to facility-based care

(B) Including adolescence for the first time
as a-distinct life age

© Hzg risk pregnant women

)
€2y

(a) = o

v analE Yu-tw ¥ frEeR s

(B) FResirreran & usell 9 U fivaq sie
ﬁw%m%aﬁ%&mi

(<

(D)

®)

Skeletal 1
(A) Strigied muscles
(B) Non-striated muscles
(C) Smooth muscles
(D) Inveluntary muscles

[ @ ug W HE W § -

(B) Menstruation
(D) Parturition
ion not attempted

= g7 % FYSTE B U

(B) FHzuym
(D) urglem

|
e
&

7% Who was awarded 2023 Nobel Prize in
physiology or medicine?
(A) Katalin Kariko
(B) Svante Pabo
(C) Annie Ernaux
(D) Morten P. Meldal:
(E) Question not atterip
frafiea § o Rewer 9
Tfeeamemes o 9w qTEBT 2023w o ¥ 7
(A) I wie!
(B) @@= U=
(O T T
(D) == & A
(E) ergafta wew
72 Match List I with List'H:
List I List I
a. MR L O
b. BCG i S beutaneous right
&ﬁpﬁi‘ arm
c. Pentavalent Il Intramuscular
anterolateral thigh
d. Rota virus IV, Intradermal left
upper arm
gl 1% wy g 1 @ fram A
Tl g 1T
a. WH Y i.
b. & @ W I {Subwmneous}
c. UREEE 111, m&sﬁa m&é&%
ﬁg:;;ramuscu}ar
Axnterolateral) g
d. ey fammy IV Wﬁiﬁﬁ (Intradermal)
Choose the correct answer from the options
given below:
T R e et A g
(A) ali, b1V, ¢,
(B) oI, b-1V, ¢-I1,
(C) a1V, bl c-I1I,
(D) &V, b1, ¢IIL, d-1I
(E) Question not attempted / erafta e
/\ B8TNANM-1
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73

74

75

Which is NOT a life saving medicine?
(A) Atropine

(B) Paracetamol

(C) Lignocaine

(D) Sublingual nitroglycerin

B Quesﬁoz} not attempted

e o g e e e ol Wl ¥ 7
(A) W

(B) WTE%‘

(C) foarsw

D) WWW@W

E®) ergalta g

Which siatemﬁms are true for Anganwadi

Workers?

1. Reports to child development project
officer.

2. Isa par’{ -time worker.

3 Is selected from local community.

4. Is an honorary worker.

Choose the most appropriate answer from

the options gi&?}m below:

Ay 1 aﬂd 4. (B) 2and3

<y 2,3 ans:%% D) 1,2and 3

(E) Questiez} not at*empied

TS wrwalel & e erY o e £ 7

1. % uEE Sami veee arr&ﬁa"{ ! e
T B
TE S HHER (pem time worker) %1

2
3. 5% micb&‘f @gqm g RREERERICICHEY
4. 1%

Which of the following does NOT fall under
Xerophthalmia?

(A) Retinal xerosis

{B} Lachrym%é xeroszs




76

77

Which of the following food items is used
in menus like in “Balahar” under National

Nutrition Programs?
(A) Sprouts

(B) Groundnut
(C) Soybean
(D) Jaggery
Question not atternpted

ywing is NOT the feature
Care Act, 2017 of our

of Mental Hea
country?

(A) It has laid-down the ‘rights’ of a
mentally i1l person.

(B) It seeks to criminalize the attempt to
commit suitide.

78

/\ 8TNANM-1
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d. Intentional

Match List I with List I
List 1
a. Disability L

List 11

Unpremediated event

resulting in

recognizable damage

II. Sexual assault and
abandonment

1. Quicome of

Injury-Scal accident process

IV, Assessment of

seriousness of injury

@

L e we fras
afoome e afE
@it TRl ©

1. @ omeor &t
i

1. gefer wiwar @t
TR

V. &y &1 A9t &1

) al T

Choose the correct answer from the options

(A)
(B)
(8)
D)
(E) Question not attempted / STIRNG 4¥T

79

80

/\ BTNANM-1

Which of the following diagnostic techniques
are used for diagnosis of TB under NTEP?

1 ZN staining

2 Serological test (Ag-Ab)
3. Culture

4 Chest X-ray

5

Rapid Molecular

, 4

UJ

(A)
(B)
©

2

Do e
quJJL\J

*

15%
s 4,5
3,4,5

B Quﬁsﬁon not aﬁffmpteé / st

Rajasthan received
in 20227

How many persons fr
the Padma Shri Awar

(A) Five
B) Two
(C) Four
(D) Thres
(Ey Question not at

ted
Bl TS 2022 ¥ wgH &t

JURBIR T FIvr 7
(A) ufw
®) =
©) =x
(D) =

(E) ormim us

25
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83

Which of these is NOT the early sign of
stress?

(A) Initiation of substance abuse

(B) Difficulty in concentration

(C) Vague symptoms of indigestion

) increaseé}i}imetivation

(B Questioré; 'k\ot attempted

S\ T o e e sl & 7
(&) ﬁ@%ﬁwﬁawwmﬂ
(B) '
(Y
(D)

()

Name the progmmme to improve quality of
care in labourroom and maternity OTs in
Public Heaith Centres.

(A) ‘

B NESHCQAY

(C) LaQSHAY

(D) ARSH

(E) Question not attempted

i ¥y T H waT 9 o ARy o & §
ST B ﬂ'fﬁ‘fﬁf e & T e sriey ¥ ?

(A) o (%»éEKSHAY)
(B) frema (NISHCHAY)
(C) v (LaQSHAY)
(D) ot (ARSH)
(E) orai@ a5

Any disease which is present permanently
in a region or-population is called:
(A) Pandemic  (B) Epidemic

~ (D) Endemic

(C) vefes
(B) oFi wsd
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Which of the following are the emotional

responses to illness?
1. Overdependency
2. Stress
3. Fear

4.  Feeling of

5. Feeling of hopefulness

Rreieiae & & Sy Ry Tor & 93 wRirar B 7

Choose the most appropriate answer from

the options given-below:

I8 g 7o fyeedhd @ Ted SugE Sl @l
N N,

Ay 1,2,3,5
B) 2,3,4,5
< 1,2,3,4

D) 1,3,4,5

(E) Question not attempted / aa us

/\ 8TNANM-1

%

Identify the statements which are true for
Monounsaturated Fatty Acids (MUFAS)

1. Contain only two double bonds and

are usually liquid at room temperature.

5.  Olive oil is a good source of MUFA.

oA & AereTagifes & ThEsw

2. MW TY. Y, T, T. BT I §

3. ¥ UE 9. UE. G| B 9 §

given bek Vv
e fu e Reer § @ wE WO w1 9
Bt
(A)
(B)
©
)
(E) Question not attempted / 3TRT YT

/\ BTNANM-1

86  Which of these are NOT the major reasons

for emergence of infectious disease?
1. Migration of population

2. Growing international irade, tourism
and rapid travel -

3. Robust public he

4. literacy and ign

5. Literacy and awa

Choose the most appropriate answer from

the options given below:
(A) 1,2and5
(B) 3and 5
(Cy 2and 4
DYy 1,3ands
(E) Question not at mpted

Preaferfam & & B S T 3 anfeata %
T@ HRO L E 7

1.

2.

4,

5. HIETE QYT SIEeadl

A few T el ¥ g9 sugE wwR @
T BT

(A 1,285

(B) 3385

(C© 23w 4

Dy 1,385

(E) omai@ g
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Which of the following are part of National
Snake Bite Protocol, 2007 by the
Government of India for giving first aid in
snake bite?

1. Do not apply ice

2. Do not a;opiy any compression in the

3.
4.

Choose the most appropriate answer from
the options givén below:

(A) 1 and gl, . (B) 2,3and4

() Zand 4" D) 1,2and 4

(E} Question not attempted

|9 % sE T TR ST 39 % fg s
@R &0 RE 91 Ay €% g5 WEe,
2007 % e 9 & o ¥ 7

2. ,'::;i@%mﬁfﬁﬁwa

Wmﬁ’ﬁﬁ o S B O ey
T
mg‘q%&lﬁmmmﬁmﬂwa
T%%r fog g foeedl ¥ ¥ qe Suge Ol @
T oﬁ‘%fq
(A) lelw3 .
© 294

Ll

(B) 2,334
D) 1,284

Avoidance of ‘Unnecessary antibiotics and
unnecessary ssreemng for the disease are the
examples of: =

(A) ?ﬁmﬁrdml prevention
(B) Quaternary prevention
Tertiary prevention

(B) =gufe Ueum
(C) Témm Twyum
(D) fedws T
(B) orara ue




89  Which of the following interventions are very

important to maintain good health?

(A) Yoga, vaccination and avoiding
crowded places.

(B) Balanced diet, personal hygiene and
avoiding rded places.

(C) Yoga, balaneed diet, personal hygiene
and vaccination.

)
&) |
a1 Tga weayl ¥ 7
(4)
(B)
©
(D)
(E)
90 Health means
(A)
(B)
() t
maternal mortality
(D) State of complete physical, mental and
social w@ﬂ
(E) Question
(A)
B WL"? Qirﬁmﬁi T RIS PTG & Rerfy
© o o
(D) g sﬁﬁa W&‘%@ e Tl HIwad
(B) orgara we
/\ 87TNANM-1

91

92

63

28

Typhoid fever can be confirmed by:
(A) Widal test

(B) Sugar test

(C)y MRI

(D) ECG
(E) Qué iion not attempted

TS veT B qite B & @ R @

(D) @ o
(B) C‘H@Hﬁﬁ U9

Which of the following is NOT an
intervention of 6x6x6 strategy of Anaemia
Mukt Bharat?

(A) Deworming

(B) Foad fortification

(C) Bl 64 transfusion in anaemic mothers
(D) Delayed cord clamping

(E) Question not attempted

©) 2012
(E) Question not attempted / HTT HF

94  Which vulnerable groups are identified for
the control of micronutrient deficiencies in
the National Nutrition Policy adopted by the
Government of India in 19937
(A) Children and pregnant mothers
(B) Girl child and pregnant mothers
(C) Nursing mothers male child
(D) Nursing mothers, nant women and

children
(E) Question not attempted
I W ENT 1993 & erest oy 75 i drey
il & BT BN I B GeH NS qedl B
A1 aX Prasr Ten % fe gt e e
A = aﬁ‘{ REEGI| w%wq
B)
©
(D) wWAIE HUT L HE, T Ay
(E) oraia g

95 Select the correct ments from the
following :

1. Dose of Inactivated Polio Vaccine
(IPV) is 0.1 ml

2. 1PV is given in rmally.

3. IPV is given at t upper arm.

4. IPVisgivenat 6 weeks and at 14 weeks.

5. IPV is a live attenuted vaccine.

FrriiviRaa ®ot @Y O3 LRl B BT g i

1. ﬁmm%ﬁ%ﬁwgwmz
mi ¥ ‘

2. i?‘faﬁwﬁum%%mw%:

3. @R Bl st w IPV R s ¥

4. IPV 6w qur-14 g T Ry s
.4

5. IPV us wifam JdT 7

Choose the correct an; from the options

given below : -

e g T R F € 9 SR w1 e Bt

(Ay 1,2,3,4 ¢ 12,45

)y 2,3,5 D) 3,4,5

(E) Question not attempted / sraica ws

/\ 8TNANM-1
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86  Match List I with List II;

97

List I Age List II (Anthropometric
(Vears) Measure)
a. 1% I Mid upper arm
circumference

b. 3 Weight according to age
c. 8 Body Mass Index
d. 42 Head and chest

~ circumference
T 1% e g U @ e S
gl (@) ol I (S wm)
a. 1% L =e Sl arg st aify
b. 3 E U F U o
c. 8 fﬁ RISt
d. 42 z‘v T ofr e (o7eh) =t aftfy

Choose the C{}ﬁfﬁst answer from the options
given below: =

ey g g et § € 98 SO @1 9e SR
(A)  a-L, bIl, -1V, d-III
®) all, b-L.cIV, d-II
(©) IV, bl oI, d-1
(D) a-1V, b-L, e-I1, d-1II
(E) Question not attempted / FTANT U9

According to the “BEINGS”™ model of
disease causation, human disease and its
consequences are caused by an inferplay of
how many factors?

(E) Question not attempted / sF@TE U8
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Identify the 4D’s under RBSK initiatives for
screening and early intervention in

management
1. Deficiency

Disabilities

2.
3. Deafness
4, Defects

5.  Developmental delays

g § g ofk Humya & Mo s S Te B
¥ 4 Ds @& gsamg:

1. Red=r (F90)

2. Ruohfwr (R

3. veE ()

4. Trwem (TUE)

5. e e (Resfea em o <)

Choose the most appropriate answer from

the options given below:

Y fu g Rewd § ¥ oI SUgE SET B

T BT

Ay 1,2,3,4

(B) 1,3,45
(© 1,2,35
Dy L2,45

(E) Question not atiempted / SFRAG 9

/\ 8TNANM-1
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Which of the following is/are NOT a part
of integrated vector management for the
malaria elimination framework?

1. Indoor residual spray

2. Case based surveillance and rapid
response

3. Logg lasting insecticidal nets

4. Larval source management

Choose the most appropriate answer from
the option given below:

(A) 4 only (B) 2 only

(C) 3and 4only (D) 1,3 and4 only
(E) Question not attempted

fre § @ B @ AT SR WER % WY

gt deey ey o e W@ 7

1. Hah el gEr

2. gl ux emenfia gdeT 6T ofte i
3. WR WY A6 ge O S Ere W
4. W% ST @ gEEH

A2 oo 7o freedl ¥ © SEY SUgET T BT
T BHITL:

(A) wad 4 (B) %o 2

(C) Fam 3 a4 (D) ¥aw 1,3 &4
(B) erpafa us

Which of the following is NOT a psychiatric
disorder?

(A) Hemophilia

(B) Psychosis

(C) Substance abuse

(D) Obsessive Compulsive Syndrome
(E) Quéstien not attempted

frfafea § & sran TRy ged ReR @i ¥ 7
(A) ST

(B) w=ifafata

(C) e T FoTEr

(D) =i wremar e

(B) Question not attempted / SR ¥

SPACE FOR ROUGH WORK | T% &g & fog e

/\ 8TNANM-1
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